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By Simpson’s rule evaluate the definite
10
integral J; L with nine ordinates. 10

f+x
10
dx
:i}a\?rﬁfa?raﬁmsqﬁmaﬁﬁgqﬁ o

oy ferre B & g i

(b) Show that the area included between th:c
parabola y* = 4.x and the ordinate x = 4 is
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(c) Calculate the work done in pumpipg out
the water filling a hemisphere reservowr 10m

deep.
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6. Solve the differential equations. (any three) !

6 each
(@), (1 +x)yds+ (1 +y)xdy=0
o +x2)%‘é+ 2zy —42°=0
(¢ sec’xtanydx + sec’ytanxdy = 0
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. jve the following dilferential equations : 19
(@ (P*-2D+5y=x2+1
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(b) (D?- 5D +6)y=x - sinx
(b) Draw a flowchart for the sum of first n
natural pumbers 8
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;(a) State and prove {>e-Morgan’s law, 10
fe-winta fem = faade fag Sife)

/.(b) Name any Jfive word processors. &
fr=3l ot o€ Sdwd & am fafee | g "Bt oth

Or
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() Write a short pote un central processing

unit.
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.';//(é) By Sitopson’s rule evaluate the definite

integral _L i—% with mine ordinates, 10
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(b) Show that the area included between the
parabola y* = 4 x and the ordinate x = 4 is

% of the area bounding rectangle. 8
mﬁ;Wyz=4x3ihmx*4a;ﬁa
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(¢) Calculate the voork done in pumping out
the water filling a hemisphere reservoir 10 m

deep.
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b. Solve the differential equations (any three) :
' . 6 each

(@) (1+x)yde+ (1+y)xdy =0
(b) (]+x2)%+2.ty—4x2=0
(c) sec*xtanydr + sec?y tanxdy = 0

(). i—:}% + -{%+y =x + sinx
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(c) Evaluate :
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6 14 cos“x
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3. (a) Find the radius of curvature of the curve Or
y2 = 4x at the point {2,2 IV ’ {3
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rq’z cosx e c) % =ytanx—2sinx
b) J (1+sinx)(2+sinx)
ra & d) sec’ xtanydx+sec® ytanxdy =0
°) 0 94 x?
7. a) Solve the following differential equations
any two
5. ?} Find the area of the circle x? + y*=25. 9 (any two) 3 ° e::h
_ fFafaita sEea gl [5) #alif‘rlq :
T 32+ y? =25 F ATHA A B (@ )
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b) Evaluate ‘[°1+ 2 using Simpsons rule by ™) ax?  dx tiy=e
v
e . r
taking 10 equal sub mte;vals. 9 i) (Dz -2D+5)y = sin3x
1
Rere P aw |, —— w1 w9 10 wW
01+ x 2x .
s iii) (D2—4D+1)y=e sin2x
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b) Name any five word processors. 6
Tl gia FE-vaed &
6. Solve the following differential equations: T Ferel
(Any three) 6 each
Ffaiaa Jaaa TiEol ) ga Aifm: (F@E §37) 8. a) Write abasic program to find the area of a circle
having radius 32.63 cm.
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i i feiftag Rl 90 w1 e se wm o
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